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error oc O(1/(N +1)!).
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t=1/(1+ x)

50mblsgboo:

1. Compute the integral

D
1 - l_ S101
, R fdx
2m 0

Compute the integral / (1 + 22) Y% de with five correct decimals.

2.

QbsHgo 9900930l Bgo bb‘ngbﬁPOg ©50M300090 900l B3w9630s (1,1e+5);

3.

[ ]
. 2. —4/3 . . .
Compute the integral / (1 +x7) 7 7dr with five correct decimals. Expand the

. . -1 . . .
integrand in powers of #7 and integrate term-wise over the interval [[I2, oc|, for a
suitable value of . Then use Romberg’s method on the remaining interval [0, I2).

4.

]"mpuw a uuital)lv plan (using a computer) for computing the following integrals,
for s = [ 0.7,...,3.0:

(s =}
(a) (J +sx) 1 d (b) (2* + 1) da, error < 1077,
0 Ja

(c) / (s +x) 3 gin a de.



